The Rozov exercises
M.2.1.

' =1—ayd
y = Bay* — Cy

z,y>0,A B,C >0
M.2.2.

>0, 0<E; <1, R>0,V5>0,C>0.

M.2.3.
vi=%(n-%+un)
Yy = —Ey
0<E<L
M.2.4
yi = A— By —y1 + yiyp
Yy = Byr — yiye
A, B> 0.
M.2.5
Y1 =yi(v—1+y2)
yh = vya — (4 + 43)
v > 0.
M.2.6

Yy = A— 1y
yé =Y1Yy2 — Blny

y1,y2 > 0A, B > 0.




M.2.7

yi = Ays + Ewyr — v — y1y3
vh = —Ayi + By — y3 — yiye

A7 E17 E2 > 0.
M.2.8

= By2(1 - yl) — Dy
yh =By (1 —y1(1+A)+ (y2— A)?)+C- B

A,B,C,D > 0.

M.2.9
yl y1(Ary2 — By)
Yo = y2(Asy1 — B2)
Ai, B; > 0.
M.2.10
Yi=p+uy+y2 —vi/3
9/2 C(A v — B?JQ)
0<B,C<1.
M.3.1.
Y =11 ((3—4p) —y1 —y2 — ys3)
Yo = y2(—E2 + y1 + 2py2)
vy = y3(—FEs +y2)
Ei,/iuyi Z 0.
M.3.2.

yi =y (—F1+a(C - 25’21 Yi) — ylij)
b= y
Y2 =12 (L2 + y1+R - ysz

yi >0, 0,C,K >0,0< FE; < 1.
M.3.3.

Y1 = y1(Er — y2)
vy = ya(—Ea + y1 — y3)
ys = y3(—E3 + pyo)

yi >0, By, 1> 0.
M.3.4.

y1 = E1 —yiy2
vy = y2(—E2 +y1 — y3)
y3 = y3(—FE3 + py2)

yi >0, B, p > 0.



M.3.5.

vy = y1(Er — y2)
vh = y2(—E2 +y1 — y3)
ys = —E3 + pyays

M.3.6.
Yy = —My1 + y2y3
Yo = —Mys + y1(y3 — A)
ys =1—y1y2
A, M > 0.
M.3.7.
Y= —Y2 — Y3
Yo =11 + Ay
vy = F — Mys + 1y1y3
A F, M > 0.
M.3.8.
yi =Sy —y2)
Yo = Ry1 — y2 — 113
yé = 11y2 — Bys
M.3.9.
/!
vy = (¢ —Dy1 —y2 +y1u3
/!
Yy = y1 + (¢ — 1)ya + y2y3
vy = dys — (v +v3 +3)
0<¢<1.
M.3.10.
yi = yl(a - 7?/3)
Yo = Ay1 — By2
Y3 = [y2 — VY3
a? /87 PY’ )\7 /"L > 0'
M.3.11.
yi = A— (B+1)y1 + yiyz + y2u3
Yy = By1 — yiy2 — y2y3
ys = R(y1 — y2y3)
A,B,R> 0.
M.3.12.

Yy = A+ Ccos(Wys) — (B + 1)y1 + yiye
vh = By — Yo
ys =1



A, B,C,W > 0.

M.3.13.
yi =y — Dyo +ya(ys + yd)
vy = Dy 4+ yo +v1(3ys — v?)
yh = —2ys(M + y1y2)
D, M > 0.
M.3.14.
Yi =y —2y3 — Dys + y3
yh = Dy1 + 2y1y2 + 2
vy = —2y3(y1 + M)
D, M >0.
M.3.15.

Y1 = 2y1 — 2y1(y1 + y2) — y1y2(cosy3 + Casinys)
Yy = 2y2 — 2y2 (2y1 + %yz) — 2y1y2(cos y3 — Casinys) — 2K %y,
ys = Co(2y1 — (1/2)y2) + 201 K2 + siny3(2y1 + y2) + Ca cos y3(2y1 — y2)

M.3.16.

<

/
1=
Yy = (Sln y1cosy1)y3 — sinyr — Ays
y3 = K(cosy1 — R)

K>0,0<R<1.

M.3.17.
y1 = Hy1 +y2 + Eys
Yo = Kz
vy = L {—A(yr + 13 + y3) + th(B(1 + dys — 16y1))}
M.3.18.
yi = aly — zy + = — Ga?)
Yy = L(—y—ay+ F2)
ys = u(x — dxz — z)
M.3.19.
=y
y/ =—-Dy+ %:L‘(l — 1;2) + Fcosz
=W
M.3.20.
=y
y = —Ky—a®+ Bcosz
Z =1



M.3.21.

Yy = —Ay1 + y2 + Byays
yh = —y1 — Cy2 + Dy1ys3
Y5 = ays — By

A,B,C,D,E > 0.

M.3.22.
Y =1—by1 — 1193 — q1y2 + 3
Yy = a(y1ys — y2 + d)
yé = C(qylyz - y3)
a,b,c,d,q > 0.
M.3.23.
vy =yi1(yr — B)(1 —y1) — y1y3 — A(y1 — ¥2)
Yo =vy2(y2 — B)(1 — y2) — yay3z — A(y2 — y1)
ys = y3(y1 +y2 — O)
M.A4.1.
Yy = —Y2 — Y3
yh = y1+ Ays + s
ys = B+ 1193
Y, = —Cys+ Dy,
A,B,C,D > 0.
M.4.2.

! 4
y1fm(—mr+%«f—zﬁﬂw—awﬂ
vy = ya(—ma + a1y1 — a2ys)
ys = ys(—ms + asys — asys)
yf; = ?/4(*7714 + a3?/3)

C,m;,a; > 0.

M.4.3.
vy =1 (—F1 — A1y2 /(R + ay1) + Biyo/(R + byo))
Yy = w(@+AwﬂR+%m
ys = y3 (—E3 — Asya/(R + ays) + Bsyo/(R + byo))
Yy = ya (B4 + Agys/(R + ay3))

Ei7Ai7 Bi7a7 b7 M7 R > 0.
M.4.4.

X{72 = A1,2 - (BLQ + 1)X]_,2 + X1272Y1,2 —'- CI(XQJ — X172)
Yio=BioX15— X{,Y12+ Cy(Yo1 — Y1)

A17A27 B17 B27 Cra Cy > 0.



